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INTERNATIONAL INDIAN SCHOOL BURAIDAH 
                                                    SAMPLE QUESTION PAPER (2024 -2025)/ TERM -1 

Class: 2 / Subject: Maths 

Name:__________________________________ Adm.#____________ 

Date:_______________          Duration: 2 Hours    Max. Marks: 40 

 

A) CHOOSE THE CORRECT ANSWER.                                                                               (1X10 =10M)                                                                         

  1) ______________ numbers are those numbers  that  can be put in pairs .  

    a) odd               b) even                 c) ordinal 

2) Numeral of ‘Six hundred  seventy two’ is ________. 

    a) 627                b) 672                   c) 607 

3) 472-0 =___________ 

   a) 472                 b) 0               c) 427 

4) In 683, the place value of 8 is __________. 

   a) 800           b) 80                c) 8 

5) ______ + 125 = 125  

   a) 0            b) 1                c) 125 

6)  _________ is the smallest 4 - digit  number. 

    a) 999           b) 1000              c) 1010 

7) The resultant term in subtraction is called _________________. 

  a) subtrahend           b) minuend              c) difference 

8) 154-1 =  ___________. 

  a) 153       b) 152                c) 154 

9) _________ is the greater than sign . 

   a) <                b) >                c) + 
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10) Write the number that comes next in the given pattern.  5 ,     10,   15,____ 

      a) 25          b) 20           c) 30 

B) WRITE ‘True (T) OR ‘False( F)’.                                                                                  (1X5 = 5M)                                                                                          

1)  54-0 = 0          .__________ 

2) 36 , 106 , 110 , 199 are in descending order. _______ 

3) 56 = 5 tens and 6 ones .        _________ 

4) + is the sign of addition .     _______ 

5) 536- 536 = 1.           ___________ 

C) MATCH THE FOLLOWING .                                                                                           ( 1X5 = 5M)                                                                                                 

1) One hundred ten                                              a)    33    

2) 37-2                                                                      b)   998 

3) 10 Tens                                                                  c)    110 

4) The number before 999 is                                 d)   1 hundred        

5)     34-1   =                                                               e)    35 

D) SOLVE:  ( ANY SEVEN)                                                                                                          ( 2x7=14) 

1) Write the  number name of following numbers. 

    345                     

     677    

      1000  

2) write the numeral of the following number names 

a)  Eight hundred twenty  

 b) four hundred sixty two 

c) nine hundred ninety nine 

3)Write the expanded form of the following . 
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4) Subtract  

                                       

    

 

 

5) Arrange the following numbers in increasing order. 

102  , 99  , 110  , 157        _______________________________________ 

6) Place numbers in the correct columns and solve.   

    13+18+23                           

                                      

 

7) Check ur subtraction using addition.   

                                                      

                               

 

   

  8) Arrange   the following numbers in  decreasing order 

  455  , 762  , 123 , 578    __________________ 

 E)   WORD PROBLEM. ( ANY TWO )                                                                                    ( 3X2=6M) 

1) A  florist has 62 roses and 42 orchids . How many flowers does he have in all? 
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   ANS______________________________              

 

                                

 

2) Leena has 234 pista shells. She used 132 of them to decorate a rangoli design. How many 

shells does she have left? 

 

  ANS _________________________________ 

 

 

 

3) A shopkeeper bought  176 fruit juice packs and sold 48  of them . How many juice packs 

were left with him? 

  ANS __________________________________________ 

  

 

 

 

   

   

   

   

   

   

   

   

   


